MAT 133 Calculus II
2021 Spring 1

Final Exam Review Solutions

1. (a) Sketch the curve with the polar equation r = sin 6 — cos 6.
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(b) How would you describe the line y = \/gx in polar coordinates?
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(c) What's another way to describe the line in (b) in polar coordinates?
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4. Calculate the following integrals.
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(©) Hx cos ydA where R is the region bounded by y = 0,y = x?and x = 2.
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(d) He‘xz‘y sz where R is the region bounded by the semicircle x = /16 — y2 and

R

the y-axis.
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5. Evalg%te the following integrals y
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(b) JJJ 3xydV where R lies under the plane z = 5 + x + y and above the region in the x y

R
-plane bounded by the curves y = \/_ y=0andx = 4.
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J;where R is the region between x> + y> = zand z = 9.
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6. Let R be the region in the first octant bounded by the planesz = 1 —xand —
y = 2 — 2z. (See picture below.) Express, but do not evaluate the triple integrals

f(x,y,z)dV as an iterated integral in each of the six possible ways.
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